
Complete Tool and Parts List - Engineering Cart

Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

1 2 Scissors 28 20b     1/8" slotted 33 SAE socket set with rack

2 3 6" Phillips driver bit 29 20c     #0 Phillips 56 33a      SAE 1/4" socket

3 4 Magnetic pick-up 30 20d     #00 Phillips 57 33b      SAE 5/16" socket

4 5 Inspection mirror 31 21 Channellock needle nose pliers 58 33c      SAE 3/8" socket

5 6 Pick tool 32 22 8" needle nose locking pliers 59 33d      SAE 7/16" socket

6 7 1/2" wood chisel 33 23 6" adjustable wrench 60 33e      SAE 1/2" socket

7 8 Mini pry bar 34 24 Saw handle 61 33f      SAE 9/16" socket

8 9 Mini Mag Light 35 25 6" round file 62 33g      SAE 5/8" socket

9 10 Stanley Power Lock 16' Tape Measure 36 26 4 in1 file 63 33h      SAE 11/16" socket

11 SAE hex wrench set 37 27 Channellock 8" groove joint pliers 63 33i      SAE 3/4" socket

10 11a     5/64" 38 28 Channellock Lineman’s pliers 64 33j      SAE 13/16" socket

11 11b     3/32" 39 29 1/4" x 4 flat head screwdriver 65 33k      socket rack

12 11c     7/64" 30  Klein 11 in 1 multi-screwdriver 66 34 3/8" ratchet

13 11d     1/8" 40 30a n/a - not sold separately 67 35 Small wire brush

14 11e     9/64" 41 30b n/a - not sold separately 68 36 Tooth brush

15 11f     5/32" 42 30c n/a - not sold separately 69 37 Calculator

16 11g     3/16" 43 30d n/a - not sold separately 70 38 Small tubing cutter

17 11h     7/32" 44 30e n/a - not sold separately 39 Stubby screwdriver

18 11i     1/4" 45 30f n/a - not sold separately 71 39a     #2 Phillips

19 12 Razor blade scraper 46 30g n/a - not sold separately 72 39b     1/4" slotted

20 13 Tweezers 47 30h n/a - not sold separately 40 Nut driver bit set with holder  

21 14 3/32" nail set punch 48 30i n/a - not sold separately 73 40a     1/4" magnetic nut driver

22 15 Electronic temperature probe 49 30j n/a - not sold separately 74 40b     5/16" magnetic nut driver

23 16 Voltage sensor 50 30k n/a - not sold separately 75 40c     3/8" magnetic nut driver

24 17 Wire stripper 51 30l n/a - not sold separately 76 40d     7/16" magnetic nut driver

25 18 Diamond sharpening stone 52 30m n/a - not sold separately 77 40e     3/8" socket bit

26 19 Irwin quick change utility knife 53 30n n/a - not sold separately 78 40f     Nut driver bit holder  

20 Multi-bit mini-screwdriver 54 31 Torpedo level 79 41 3" socket extension

27 20a     5/32" slotted 55 32 6 in 1 painter's tool 80 42 Mag 3D Cell Flashlight

81 43 Straight claw hammer

82 44 Tool bag parts box

Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

83 45 Aluminum speed square 108 65g     Combination wrench roll-up 131 70c     7/16" DW socket

84 46 Compass 109 66 Channellock wire cutters 132 70d     1/2" DW socket

85 47 Safety glasses 67 Metric hex wrenches 133 70e     9/16" DW socket

86 49 Ruler with conversion table 110 67a     1.5 mm 134 70f     5/8" DW socket

87 50 Angle screwdriver 111 67b     2 mm 135 70g     11/16" DW socket

88 51 Awl 112 67c     2.5 mm 136 70h     3/4" DW socket

89 52 Triangle file with handle 113 67d     3 mm 137 70i     13/16" DW socket

90 53 10" round file with handle 114 67e     4 mm 138 70j     DW socket rack

91 54 Metal file- flat/round with handle 115 67f     5 mm 139 71 10" adjustable wrench

92 55 Wood file- flat/round with handle 116 67g     6 mm 140 72 12" aluminum pipe wrench 

93 56 3/16" x 8" flat-head screwdriver 117 67h     8 mm 141 73 Channellock 12" groove joint pliers

94 57 3/8" x 6" flat-head screwdriver 118 68 6" socket extension 142 75 10" locking pliers

95 58 #3 x 6" Phillips screwdriver 69 Metric socket set with rack 143 76 1" wood chisel

96 59 2x Spray bottle 119 69a     8 mm socket 144 77 1 1/2"  putty knife

97 60 Craftsman staple gun 120 69b     9 mm socket 145 78 8" mud knife

98 61 25' extension cord 121 69c     10 mm socket 146 79 3" putty knife 

99 62 Funnel 122 69d     11 mm socket 147 80 3/4" concrete chisel

100 63 Caulk gun 123 69e     12 mm socket 148 81 3" adhesive spreader

101 64 Self lighting, swivel head torch 124 69f     13 mm socket 149 82 Large wire brush 

65 Combination wrench set with roll-up 124 69g     14 mm socket 150 83 1 1/2" cut paint brush

102 65a     1/4" combo wrench 125 69h     15 mm socket 151 84 Cleaning brush

103 65b     5/16" combo wrench 126 69i     17 mm socket 152 85 All purpose cutters

104 65c     3/8" combo wrench 127 69j     19 mm socket 153 86 Cable cutter/pruner

65 Combination wrench set with roll-up 128 69k     Metric socket rack

105 65d     7/16" combo wrench 70 Deep-well socket set with rack

106 65e     1/2" combo wrench 129 70a     5/16" DW socket

107 65f     9/16" combo wrench 130 70b     3/8" DW socket

Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

189 101c1     1" Phillips #2 108 Wood drill bit set

154 87 Outlet tester 190 101c2     2" Phillips #2 229 108a     3/8"

88 Light socket to plug adapter 191 101d1     1" Phillips #3 230 108b     7/16"

155 88a     Single outlet lamp socket 192 101d2     2" Phillips #3 231 108c     1/2"

156 88b     Grounding plug adapter 193 101e1     1" flat head 3/16" 232 108d     9/16"

157 88c     Light socket extension with 2 plugs 194 101f1     1" flat head 1/4" 233 108e     5/8"

Detailed Tool List - Tool Bag

Detailed Tool List - Left Module

Detailed Tool List - Right Module

                         



Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

Detailed Tool List - Tool Bag

158 89 3 to 1 multi-plug 195 101g0     1" Robertson #0 234 108f     11/16"

159 90 Deerskin work gloves 197 101h1     1" Robertson #1 235 108g     3/4"

160 91 Siphon pump 198 101h2     2" Robertson #1 236 108h     13/16"

161 92 Voltage tester 199 101i1     1" Robertson #2 237 108i     7/8"

162 93 Continuity tester 200 101i2     2" Robertson #2 238 108j     1"

163 94 HW tank element tool 201 101j1     1" Robertson #3 239 108k     1 1/8"

164 95 Irwin quick clamp 202 101k110     1" Torx #10 240 108l     1 1/4"

165 96 Electronic multi-meter 203 101k115     1" Torx #15 241 109 Johnson 18" Level

166 98 Center punch 204 101k120     1" Torx #20 242 110 13" Pry bar

167 99 1/8" pin punch 205 101k125     1" Torx #25 243 111 Chalk line

100 Dewalt metal drill bit set 206 101l1a     1" 1/8"  SAE Hex Allen bit 244 112 Stud finder

168 P66a     2x1/16" 207 101l1b     1" 9/64" SAE Hex  Allen bit 113 Masonry drill bit set

169 P66b     5/64" 208 101l1c     1" 5/32" SAE Hex  Allen bit 245 P67a     3x 1/8"

170 P66c     3/32" 209 101l1d     1" 3/16" SAE Hex Allen bit 246 P67b     2x 5/32"

171 P66d     7/64" 210 101m1a     2.5 mm Metric Allen bit 247 P67c     3x 3/16"

172 P66e     1/8" 211 101m1b     3 mm Metric Allen bit 248 P67d     3x 1/4"

173 P66f     9/64" 212 101m1c     4 mm Metric Allen bit 249 113e     5/16"

174 P66g     5/32" 213 101m1d     5 mm Metric Allen bit 250 113f     3/8"

175 P66h     11/64" 214 101n3     3" driver bit extension 251 113g     1/2"

176 P66i     3/16" 215 101n2     2" x 1/4"  socket driver bit 252 114 LED Headband flashlight

177 100a     13/64" 216 101 oa     1/4" drive metric socket #5 253 115 Screen tool

178 100b     7/32" 217 101 ob     1/4" drive metric socket #6 254 116 15" Wood saw

179 100c     15/64" 218 101 oc     1/4" drive metric socket #7 255 117 12" Hacksaw

180 100d     1/4" 219 101 od     1/4" drive metric socket #8 256 118 Paint mixer 

181 100e     5/16" 220 101 oe     1/4" drive metric socket #9 257 119 Flex saw 

100 Dewalt metal drill bit set 221 101 of     1/4" drive metric socket #10 258 120 6" Coping saw

182 100f     3/8" 222 101 r     2x 1" Torx tamper proof driver bit 259 121 Dust pan

183 100g     1/2" 223 102 Dewalt light weight 18v hammer drill

101 Driver bits box with bits 224 103 ¼ x 12 metal drill bit

184 101box     Driver bits box 225 104 ½ x 12 masonry drill bit

185 101dbl1     #1 Phillips/slotted combination 226 105 ½ x 16 wood drill bit

186 101dbl2     #2 Phillips/slotted combination 227 106 1" hole saw

187 101b1     1" Phillips #1 228 107 2 1/8" hole saw with arbor

188 101b2     2" Phillips #1

Additional Tools On Cart/Parts Box
Part 

Count Part # Tool Description

Part 

Count Part # Tool Description

Part 

Count Part # Tool Description

260 122 Tarp 1 P85 Electrical Tape 7 P81 Lubricant #2

261 123 Knee Pads 2 P69 UK Blades 8 P82 Handwipes

262 127 Tubing Cutter 3 P70 Razor Blades 9 P83 Antibiotic ointment

4 P78 Marker 10 P84 Bandages

5 P79 Saw Blade 11 P86 Pen

6 P80 Lubricant #1 12 P87 Note Pad

Part 

Count Part # Part Description

Part 

Count Part # Part Description

Part 

Count Part # Part Description

27 P1 1-1/2" corner brace 51 P27 #10 x 1"   fender washer 72 P155 Popsicle stick

28 P2 2-1/2" flat corner brace 52 P28 1/4" x 1-1/4" fender washer 73 P156 Glue mixing cup

29 P3 3" flat mending plate 53 P114 10d finish nail 74 P164 Trash bags

30 P6 1/4" x 2-1/4" concrete screw 54 P105 3" exterior screws 75 P162 Spackling - small tube, 2 oz.

31 P7 1/4" x 2-3/4" concrete screw 55 P104 2-1/2" exterior screws 76 P154 Epoxy glue, .85 oz.

32 P101 1-1/4" exterior screws 56 P115 1-1/2" roofing nail 77 P158 Epoxy putty, 2 oz.

33 P100 1" exterior screws 57 P8 #8-32 x 1-1/4" knob screw 78 P159 Cable ties

34 P4 1/4" x 1-1/4" concrete screw 58 P9 #8-32 x 2" knob screw 79 P157 Wallpaper seam glue, 3 oz.

35 P5 1/4" x 1-3/4" concrete screw 59 P116 1/2" pipe strap 80 P147 Rubber gloves

36 P111 6d galvanized nail 60 P117 3/4" pipe strap 81 P160 Plastic shims

Tool Bag Parts

Fastener Box Miscellaneous Parts Box

                         



Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

Detailed Tool List - Tool Bag

37 P16 1/4" x 1"  bolt 61 P107 4" exterior screws 82 P142  Hanger strap (feet)

38 P17 1/4" x 2"  bolt 62 P106 3-1/2" exterior screws 83 P145 Galvanized bailing wire, 50'

39 P20 1/4" nut 63 P11 1/2" eye screw 84 P163 Goof-off, 4 oz.

40 P18 3/16" x 1" bolt 64 P10 #10 x 3/4" pan head SM screw 85 P161 Mesh drywall tape, 30 ft roll

44 P19 3/16" x 2" bolt 65 P14 #8 x 1/2"  self-drill, truss hd screw 86 P62 Super glue, .07 oz.

45 P22 3/16" nut 66 P15 #8 x 3/4"  self-drill, truss hd screw 87 P63 Threadlocker, .2 oz.

46 P103 2" exterior screws 67 P12 #8 x 1/2", truss head screw 88 P146 Mason's string, 250'

47 P102 1-5/8" exterior screws 68 P13 #8 x 3/4", truss head screw 89 P149 Dust masks

48 P113 16d galvanized nail 69 P108 #8 x 1-1/4" self-drill, truss hd screw 90 P151 Sanding sponge, fine

49 P112 10d galvanized nail 70 P109 #8 x 1-5/8" self-drill, truss hd screw 91 P150 Sanding sponge, medium/coarse

50 P30 6d finish nail 71 P110 #8 screw-in drywall anchors 92 P148 Shoe covers

93 P152 Polyurethane wood glue, 2 oz.

94 P153 Cutting oil, 4 oz.

Part 

Count Part # Part Description

Part 

Count Part # Part Description

Part 

Count Part # Part Description

95 P123 3/8" wire connector 115 P60 Flux brush 159 P165 Large Bottle Chalk Line

96 P124 3/4" wire connector 116 P129 Solder, 4 oz. 160 P73 D Batteries

97 P143 1-1/4" slip joint nut 117 P130 Flux, 4 oz. 161 P72 Button Battery

98 P144 1-1/2" slip joint nut 118 P121 Medium wire nuts-yellow

99 P133 Mobile-Shop water stop 119 P122 Large wire nuts-red

100 P120 Pull switch 120 P125 Electric connection grease, 1/2 oz.

Part 

Count Part # Tool Description

101 P52 Coax 2 way splitter 121 P71 AA batteries 13 P88 Touch Up Marker

102 P54 1-1/4" slip joint washer 122 P74 9 volt batteries 14 P89 Touch Up Stick

103 P55 1-1/2" to 1-1/4" slip joint washer 123 P75 AAA batteries 15 P77 Pencil

104 P56 1-1/2" slip joint washer 124 P134 Teflon tape 16 P96 Camera

105 P57 1-1/2" tail piece washer 125 P139 Plumber's grease 17 P90 Tool Marker

106 P141 1/4" toilet bolt 126 P135 All-purpose plastic pipe cement 18 P91 Staples

107 P58 Dual thread aerator 127 P127 3/8"- 7/8" hose clamps 19 P200 Caulk

108 P59 Hose washer 128 P128 3/4"- 1-1/2" hose clamps 20 P92 Art Brush

109 P118 1/2" wire staples 129 P126 12 ga. wire -  red (feet) 21 P92 Art Brush

110 P119 Cable staple 130 P174 Plumber's putty, 14 oz. tub

111 P37 Ex small wire nut - grey 131 P136 Pipe joint compound

112 P38 Small wire nut - orange 132 P131 1/2" ID fitting brush 22 111a Small Chalk Line Bottle

113 P140 Toilet tissue roller 133 P132 1/2" OD fitting brush 23 P94 Hacksaw Blades

114 P137 Steel wool- medium 24 P95 CG Saw Blade

25 P97 Blue Painter's Tape

26 P98 Black Duct Tape

Part 

Count Part # Tool Description

Part 

Count Part # Tool Description

134 P21 1/4" locknut 147 P40 Plug/switch mounting screw

135 P23 3/16" locknut 148 P41 Light globe screw

136 P24 #10   flat washer 149 P42 Light glass nut

137 P25 1/4"  flat washer 150 P45 Light pull chain (3 ft. lengths)

138 P26 5/16"  flat washer 151 P46 Pull chain connector

139 P29 4d finish nail 152 P47 1/4" female disconnect

140 P31 Carpet strip nails 153 P48 Spade teminal

141 P32 Picture hangers 154 P49 1/4" female to double male disconnect

142 P33 Push pins 155 P50 RG6 screw on terminal

143 P34 1/16" x 1"  cotter pin 156 P51 Double male coax connector

144 P35 3/32" x 1-1/4" cotter pin 157 P43 1-1/2" light nipple

145 P39a Wallplate screws, white 158 P44 Light nipple lock nut

146 P39b Wallplate screws, ivory

Small Parts Box

Plumbing and Electrical Box Parts Center Additional Parts

Left Module Parts

Right Module Parts

                         



Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

Tool 

Count Part # Tool Description

Detailed Tool List - Tool Bag

                         


